[Fo B XK L HEFREY—E X]

A7 OLEHLWITTEHAEY— X (HE - BEIARMA) y—eXa— PR

F—bxa— o e P e
A7 | 1300 aou| 1170 | TEPE
A7 | 1002 [F@AFE B Y — b = B 1 FHA S - ER 1 (B 1 IR 1, 170447 80%| 1,170
AT | 1347 70%| 1,170
A7 | 1301 90% g9 |1 HIEPE
A7 | 1004 [J@FTRAME Y— e A B 1 AE FEMNRE - B3R (1 IR 39HL 80Y% 39
A7 | 1348 70% 39
A7 | 1007 oou| 2,208 | PAIEPF
A7 | 1008 |GEFETAME P — e R Hh 2 FEXIRE - TR 2 (A 2 [EIFRREE) 2, 228 AN 80%| 2,228
AT | 1349 o A T0%| 2,228

A EPTRY— e R (HALR) - =
A7 | 1009 90% 73 |1 HEPE
A7 | 1302 [EATEULA P — A HUM 2 HE PG - HR 2 (8 2 IR (e 80% 73
A7 | 1350 70% 73
A7 | 1013 901 oy | THIE2Z
A7 | 1303 [EATEVRA B — & A B 1 [l FRGA - R 1 (B 1R 2697 K1IAOPTEIFTAMET sou| 269
AT | 1351 T0%| 269
e B2 GH2EEE) 25THL % 1A OHTRHT5ENS 8 lF o
— N ” S .l %2 (GH2[EFRE) 257THAL %1 H O TEET 5 EIMn ]
N7 | 1016 |EHVRALE ¥ — & A Ui 2 I8 PR - " * sou| o257
A7 | 1352 T0%| 257

& BB OEE —
A7 | 1304 S oow| s10 | V1=
A7 | 111 [BPFEARE Y —EARM] - (@ 111&);*2‘) 1,?75%& 80| 819
A7 | 1354 0% 819
A7 | 1305 e gou| o7 |1 RIEDE

S . " TR - BE ]
A7 | 1113 [[@FTR A Y — e R B 1 B E - EE (G 1 [EIFLE) 39HARr 80% 27
A7 | 1355 70% 27
A7 | 1306 aou| 1. 560 LHIZS&
. o ESS C EE 2
A7 | 1117 [EATRAREA Y — EAE 2 - E ?@%2%%%) %ZZ%Hjm 80%) 1,560
A7 | 1356 70%| 1,560
AT | 1307 A TR — R (B EEBBOSRE X 70% 0% 51 1 HIZoX
. .o % c TR 2
A7 | 1110 [BPPRALE S — b AR 2 [ - e s AR o
A7 | 1357 70% 51
) 1Elz>&
A7 | 1122 e 90% 188
A7 | 1123 [@FFRA0 A — e R B 1 [ - EE OB 1 [BEIF2EE) 269HiM7 80% 188
1AOR TR TAEET
A7 | 1358 70% 188
A7 | 1124 %%jﬂ»%%ﬁl)gi%} % 90% 180
N— . o . W 2 [FFRAE) 257HINL
A7 | 1125 [{@ATEANE — B R 2 [\ - B %1H@¢§ﬁgm5@mg 80% 180
8MET
A7 | 1359 70% 180
Ei# - TEBBE B XBEDEE
LHIZS&
A7 | 1308 90%| 819
- . 5% . %1
A7 | 1131 [EFTRME Y- E ABM T - AKX %%%%ﬁ%) %ﬁﬁﬁﬁ sorl 819
A7 | 1361 0% 819
A7 | 1309 90% g7 | L HIEPE
~ . 5% . 1
A7 | 1133 [EATRMA P — e A H 1 HE - AK %ﬁf%ﬁrg%i?m 80% 27
A7 | 1362 70% 27
A7 | 1310 e - oou| 1. 560 LHIZS&
— . ER c WSR2
A7 | 187 |BFTRRAY - EARM2 - AX (2 W) 7, 2209kl 80%| 1,560
A7 | 1363 B — 5% . N BRERREDHE X 10% 70%| 1,560
@A — H T T - BB KB OB % =
A7 | 1311 A mpTRT—EAg (7 . ! 7 90% 51 |1 HIEP®
~ . 5% . %2
A7 | 1130 |@PVEALE S — b A HAR 2 A - AKX b e P
A7 | 1364 70% 51
) 1Elz> X
AT | 1142 SRRTLH - I 1 90% 188
A7 | 1143 [@ETEUMA Y — & ARG 1 FEL - AKX (G 1 FIFREE) 269 HL 80% 188
X1HADOPTTEHTAREET
A7 | 1365 70% 188
A7 | 1144 %¥ﬁ%*%r:)§gi% % 90% 180
N— . . W 2 [FFRAE) 257HINL
AT 1145 |@FTARHM B Y — 2 B 2 B3 - AKX %1 H 0)¢Tf/£gﬁf5 BT 80% 180
8[mE T
A7 | 1366 70% 180




